Find the value and the optimal strategies for the two person zero-sum game below.
	
	Player 2

	Player 1
	2
	1
	3

	
	4
	3
	2


SOLUTION:

	
	Player 2
	Min

	Player 1
	2
	1
	3
	1

	
	4
	3
	2
	2

	Max
	4
	3
	3
	


There is no saddle point therefore this is a mixed strategy problem.  There doesn’t seem to be a column that dominates, so I can’t eliminate any columns.

Let Q = the proportion of time Player 1 plays Row 1

Let P = the proportion of time Player 2 plays Column 1

I am not sure how to solve for P and Q.  I know how if it is a 2x2 matrix, but I am not sure in this case.  Can you show me how?










